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Guess Paper – 2011
Class – XII
Subject – Accountancy
1. Name the account which is akin to Profit and Loss Account in case of a not-for-profit organisation.  







(1)

2. How much amount will be recorded in Income and Expenditure Account if club has 400 members each paying an annual subscription of Rs. 100?  Outstanding subscription on 31st March, 2008 was Rs. 2,000.  

(1)
3. Salary paid by Rotary Club for the year ended 31st March, 2008 amounted to Rs. 1,20,000.  How much amount will be recorded in ‘Income and Expenditure Account’ if unpaid salary was Rs. 5,000 and salary paid in advance was Rs. 1,000 on 31st March, 2008.  



(1)
4. If a fixed amount is withdrawn on the first day of every month, for what period the interest on total drawings will be calculated?  


(1)

5. How much amount will be shown in Income and Expenditure Account in the following case:
As at 1-4-2007
As at 31-3-2008



Creditors for Stationary

4,000


6,200



Stock of Stationary 

5,400


5,000


During 2007-08 payment made for Stationary was Rs. 40,000.         
(3)

6. The Literary Society of Chennai had received in 1998 Rs. 60,000 towards subscription.  Further information is:
Subscription for 1997 unpaid on 1-1-1998 were Rs. 4,000, Rs. 3,800 of which were received in 1998.  Subscription paid in advance on 31-12-1997 were Rs. 1,600 and the same on 31-12-1998 were Rs. 2,100.  Subscription for 1998 unpaid on 31-12-1998 were Rs. 5,100.                



(3)

7. A, B and C are partners sharing profits in the ratio of 5:4:1.  C is given a guarantee that his share of profits in any given year would be Rs. 5,000.  Deficiency, if any, would be borne by A and B equally.  The profits for the year 1998 amounted to Rs. 40,000.  Pass necessary entries in the books of the firm.     









(3)
8. Give any three points of distinction between Receipts and Payments Account and Income and Expenditure Account.       




(3)

9. Show how you will deal with the following items while preparing the Income and Expenditure Account and Balance Sheet for the year ending on 31st March 2001:
Prizes awarded Rs. 5,000; Prize fund as on 31st March 2000 Rs. 40,000; Donations for prizes received during the year 2000-2001 Rs. 7,200; 9% Prize Fund Investments as on 31st March 2000 Rs. 40,000; Interest received on Prize Fund Investments Rs. 2,700.     





(4)
10. X, Y and Z are partners with fixed capitals of Rs. 1,50,000; Rs. 1,20,000 and Rs. 1,00,000 respectively.  The balance of current accounts on 1st January 1992 were X Rs. 8,000 (Cr.); Y Rs. 3,000 (Cr.) and Z Rs. 2,000 (Dr.).  X advanced Rs. 20,000 on July 1st 1992.  The partnership deed provided for the following:

(a) Interest on Capital at 5% p.a.

(b) Interest on drawings at 6% p.a.  Each partner drew Rs. 10,000 on 1st July 1992.  

(c) Rs. 20,000 is to be transferred to a Reserve Account. 

(d) Profit and Loss to be shared in the proportion of 3:2:1 upto Rs. 60,000 and above Rs. 60,000 equally.

Net Profit of the firm before above adjustments was Rs. 1,15,400.

From the above information, prepare Profit and Loss Appropriation Account and Current Accounts of the partners.            



(6)
11. P, Q and R are partners in a firm.  Their capital accounts stood at Rs. 30,000; Rs. 15,000 and Rs. 15,000 respectively on 1st January 1996.

As per the provisions of the deed:

(i) R was to be allowed a remuneration of Rs. 3,000 p.a.

(ii) Interest at 5% p.a. was to be provided on capital.

(iii) Profits were to be divided in the ratio of 2:2:1.

Ignoring the above terms, net profit of Rs. 18,000 for the year ended 1996 was divided among the three partners equally.

Pass an adjustment entry to rectify the error.  Show the working clearly.(6)

12. From the following particulars relating to Rama Krishna Mission Charitable Hospital, prepare Income and Expenditure Account for the year ended 31st December 1992 and a balance sheet as on that date:


 (8)
Receipts and Payment Account
for the year ended 31st Dec., 1992

	Receipts 
	Amount (Rs.)
	Payments 
	Amount (Rs.)

	To cash in hand on 1-1-1992
	7,130
	By Medicines 
	30,590

	To Subscription 
	47,996
	By Doctor’s Honorarium 
	9,000

	To Donations
	14,500
	By Salaries 
	27,500

	To interest on investment @ 7% p.a. for full year 
	7,000
	By Petty Expenses 
	461

	
	
	By Equipment 
	15,000

	To proceeds from charity show
	10,450
	By Expenses on charity show
	750

	
	
	By cash in hand on 31-12-1992
	3,775

	
	87,076
	
	87,076



Additional information: -



1-1-1992

31-12-1992

(i)   Subscription due 




240


280


(ii)  Subscription received in advance


64


100


(iii) Stock of Medicines 



8,810


9,740


(iv) Estimated value of Equipments 


21,200


31,600

(v)  Buildings (Cost less depreciation)

40,000


38,000
  
____________________________________________________________________

1. State any two occasions when reconstitution of a partnership firm takes place. (1)
2. Define Goodwill.  








   (1)

3. Pawan and Jayshree are partners.  Bindu is admitted for 1/4th share.  What is the ratio in which Pawan and Jayshree will sacrifice their share in favour of Bindu?    









   (1)

4. How the goodwill is valued under the capitalisation of Super Profit Method?   (1)
5. Calculate the value of goodwill as on 1st Jan. 2003, on the basis of 21/2 year’s purchase of the average profits of the last five years.  The profits and losses for the years were: 1997 Rs. 80,000; 1998 Rs. 1,00,000; 1999 Loss Rs. 30,000; 2000 Rs. 1,70,000; 2001 Rs. 1,60,000 and 2002 Rs. 1,80,000.  You are informed that the profits of the year 2001 included profit on sale of a fixed asset amounting to Rs. 50,000 and the profits for the year 2002 were effected by a loss due to fire amounting to Rs. 20,000.                   


   (4)
6. Shanker, Babita and Vishal are partners in a firm in the ratio of 5:4:2.  On 1st April, 2004 they decided to share profits in future in the ratio of 4:3:2.  On this date general reserve was Rs. 34,900 and loss on revaluation of assets and liabilities was Rs. 5,200.  It was decided that adjustment should be made without altering the figures of assets and liabilities in the balance sheet.  Make adjustment by a single entry.    






   (4)
7. A and B are partners sharing profits equally.  They admit C into partnership, C paying only Rs. 1,000 for premium out of his share of premium of Rs. 1,800 for 1/4th share of profit.  Goodwill account appears in the books at Rs. 6,000.  All the partners have decided that goodwill should not appear in the new firm’s books.  Give the necessary journal entries.   



   (4)

8. A and B are partners with capitals of Rs. 13,000 and Rs. 9,000 respectively.  They admit C as a partner with 1/5th share in the profits of the firm.  C brings Rs. 8,000 as his capital.  Give journal entry to record goodwill.      
   (4) 
9. A and B are partners sharing profits in the ratio of 3:1.  They admitted C as a partner by giving him 1/4th share of profits which he acquired from A and B in the ratio of 2:1.  C brings in Rs. 1,00,000 as capital and Rs. 36,000 as goodwill in cash.  At the time of admission of C, general reserve appeared in their balance sheet at Rs. 50,000.

Following revaluations are also made:

I. Value of Plant is to be reduced by Rs. 10,000.

II. Bad debts provision is to be reduced from Rs. 4,000 to Rs. 3,000

III. Rs. 2,000 out of total creditors of Rs. 20,000 are not to be paid. 

IV. There is an outstanding bill for repairs for Rs. 1,200.

Pass necessary journal entries and prepare Revaluation A/c.  Also calculate the new profit sharing ratios.         





   (6)
10. A, B and C are partners sharing profits and losses in the ratio of 3:3:2.  Their balance sheet as on 31st March 2003 was as follows:

	Liabilities 
	Rs.
	Assets
	Rs.

	Sundry Creditors

General Reserve

Capital Accounts:

A                         2,00,000

B                         1,50,000

C                         1,50,000

	24,000

36,000

5,00,000

5,60,000
	Cash at Bank

Sundry Debtors

Stock

Machinery

Building 

	37,000

44,000

1,20,000

1,59,000

2,00,000

	
	
	
	5,60,000


Partners decided that w.e.f. 1st April 2003, they would share profits and losses in the ratio of 4:3:2.  It was agreed that:
(i) Stock be valued at Rs. 1,00,000.

(ii) Machinery is to be depreciated by 10%.

(iii) A provision for doubtful debts is to be made on debtors @ 5%.

(iv) Building to be depreciated by 20%.

(v) A liability for Rs. 2,500 included in sundry creditors is not likely to arise. 

Partners decided not to show the revised value of assets and liabilities in the balance and they also decided not to disturb General Reserve.  Pass single adjustment entry and also prepare revised balance sheet.   






   (6)
11. A and B are in partnership sharing profits and losses in the ratio of 3:2.  On 1st January 1981, they admitted C into partnership.  He paid Rs. 50,000 as his but nothing for goodwill which was valued at Rs. 40,000 for the time.  He acquired 1/5th share in the profits, equally from both partners.  It was also decided that:

(i) Land and Building be written off by Rs. 20,000.

(ii) Stock to be written down by Rs. 3,200.

(iii) A provision of Rs. 1,000 be created for doubtful debts; and 

(iv) An amount of Rs. 1,200 included in Sundry Creditors, be written back as it is no longer payable.

The Balance Sheet of A and B on 31st December, 1980 was as under:

	Liabilities 
	Rs.
	Assets 
	Rs.

	Capital Accounts:

A                              86,000 

B                              64,000
General Reserve

Sundry Creditors
	1,50,000

20,000

31,200


	Goodwill

Land and Building 

Plant and Machinery

Stock

Sundry Debtors

Cash at Bank

Cash in Hand

	10,000

60,000

70,000

36,000

20,000

4,000

1,200

2,01,200

	
	2,01,200
	
	


Prepare Revaluation Account, Partners’ Capital Accounts and new balance sheet of the firm.                                                     



   (8)

_______________________________________________________________________________
1. Give two examples of not-for-profit organisations.  



       
         (1)
2. Distinguish between a Receipt and Payment Account and Income and Expenditure Account on the basis of nature of items recorded therein. 
       




         (1)

3. Give two main sources of income of not-for-profit organisations.  

       
         (1)

4. X has given a loan of Rs. 50,000 to the firm.  He claims 10% p.a. interest.  Is his claim valid in case partnership deed is silent in this matter?   


       


         (1)

5. Mention two items that may appear on the credit side of a partner’s Fixed Capital Account. (1)   

6. Name any two factors affecting goodwill of a partnership firm.  
 
       
         (1)

7. A, B, C and D are partners sharing profits in the ratio of 5:3:1:2.  Calculate the new profit sharing ratio if B and C retire from the firm.   


       


         (1)

8. If a fixed amount is withdrawn on the first day of every quarter, for what period the interest on total drawings will be calculated?  



       


         (1)

9. A and B are partners in a firm sharing profits in the ratio of 7:3.  C is admitted as a new partner for 20% share.  A and B decided to share future profits in the ratio of 3:2.  Calculate new profit sharing ratio between A, B and C.  

       




         (3)
10. On the basis of the information given below calculate the amount of Stationary to be debited to the ‘Income and Expenditure Account’ of Good Health Sports Club for the year ended 31st March 2007:







   April 1, 2006
March 31, 2007








Rs.


Rs.


Stock of Stationary 


8,000


6,000


Creditors for Stationary 


9,000


11,000


Stationary purchased during the year ended 31-3-2007 was Rs. 47,000.            

         (3)

11. A, B and C are partners in a firm sharing profits and losses in the ratio of 4:3:3.  Their fixed capitals were Rs. 1,00,000; Rs. 2,00,000 and Rs. 3,00,000 respectively.  For the year 1996 interest on capital was credited to them @ 10% instead of 9% p.a.  Pass the necessary adjusting journal entry.  

        







         (3)

12. Give any three points of distinction between sacrificing ratio and gaining ratio.
         (3)

13. The average net profits expected in the future by ABC Firm are Rs. 36,000 per year.  The average capital employed in the business by the firm is Rs. 2,00,000.  The rate of return expected from capital invested in this class of business is 10%.  The remuneration of the partners is estimated to be Rs. 6,000 p.a.  Find out the value of goodwill on the basis of two years’ purchase of super profits.  
        






         (4)

14. A and B are partners sharing profits & losses as 2:1.  C and D are admitted and profit sharing ratio becomes 4:2:3:1.  Goodwill is valued at Rs. 20,000.  D brings required goodwill and Rs. 5,000 cash for capital.  C brings in Rs. 5,000 cash and Rs. 4,000 worth stock as his capital in addition to the required amount of goodwill in cash.  Show the necessary journal entries.            

        









         (4)

15. X, Y and Z are partners sharing profits and losses in the ratio of 3:2:1.  Y retires selling his share to X and Z for Rs. 16,000, Rs. 10,000 being paid by X and Rs. 6,000 by Z.  The profit for the year after Y’s retirement is Rs. 24,000.   Pass journal entries to (a) record the sale of Y’s share to X and Z, and (b) distribute the profit between X and Z.               

         (4)

16. A, B and C are partners sharing profits in the ratio of 50%, 30% and 20%.  B retires and after all adjustments relating to accumulated profits, goodwill and revaluation etc. their capitals stood at Rs. 1,90,000; Rs. 1,50,000 and Rs. 80,000 respectively.  It was decided that entire sum payable to B is to be brought in by A and C in such a way so as to make their capitals proportionate to their profit sharing ratio.  Calculate the amount to be brought in by A and C.   

       









         (4)

17. X and Y are partners in a firm sharing profits and losses in the ratio of 3:2 with capitals of Rs. 10,00,000 and Rs. 5,00,000 respectively.  As per the partnership deed, they are to be allowed interest on capital @ 8% p.a.  The net profit for the year ended 31st March, 2008 before providing for interest on capital amounted to Rs. 45,000.  Show the distribution of Profit.    




        







         (4)

18. Pass necessary journal entries for the following transactions, at the time of dissolution of the firm:    







        


         (6)

(i) Realisation expenses Rs. 3,000 paid. 

(ii) Y, one of the partners, took over a machine for Rs. 20,000.

(iii) Z, one of the partners agreed to take over the creditors of Rs. 30,000 for Rs. 20,000.

(iv) X, one of the partners has given loan to the firm of Rs. 10,000.  It was paid back to him at the time of dissolution.  

(v) Loss on realisation Rs. 10,000 to be distributed between X, Y and Z in the ratio of 5:3:2.

(vi) An office typewriter, not shown in the books of accounts, realised Rs. 4,000.  
19. Current Accounts’ balances as on 1st January, 1993 were as :- Amit Rs. 5,000 (Cr.), Namit Rs. 2,000 (Cr.) and Ruchi Rs. 1,000 (Dr.).  Profit sharing ratio was Rs. 3:2:1.  Amit gets a monthly salary of Rs. 1,500.

Amit draws Rs. 2,000 on the first day of each month and Namit draws Rs. 2,000 on the last day of each month while Ruchi draws Rs. 6,000 at the end of each quarter.  Interest on drawings is to be charged @ 12% p.a.  Profits for the year before adjustments of interest on drawings and of salary were Rs. 74,040.  Show Current Accounts.  Show your working clearly.  
         (6)
20. P, Q and R are in partnership sharing profits and losses in the ratio of 5:4:3.  On 31st March 2003, their balance sheet was as follows:-   


        


         (6)
	Liabilities
	Rs.
	Assets
	Rs.

	Sundry Creditors 

Outstanding Expenses 

General Reserve

Capital Accounts:

P      4,00,000

Q     3,00,000

R     2,00,000

	50,000

5,000

75,000

9,00,000
	Cash at Bank

Sundry Debtors 

Stock

Furniture 

Plant & Machinery


	40,000

2,10,000

3,00,000

60,000

4,20,000



	
	10,30,000
	
	10,30,000


It was discovered that with effect from 1st April 2003, the profit sharing ratio will be 4:3:2.  For this purpose revaluations were made:
(i) Furniture be taken at 80% of its value.  

(ii) Stock be appreciated by 20%.

(iii) Plant and Machinery be valued at Rs. 4,00,000.

(iv) Create provision for doubtful debts for Rs. 10,000 on debtors. 

(v) Outstanding expenses be increased by Rs. 3,000.

Partners agreed that altered values are not to be recorded in the books and they also do not want to distribute the general reserve.  

You are required to post a single journal entry to give effect to the above.  Also prepare the revised Balance Sheet.  

21. Brown and Smith are partners.  The partnership deed provides:        
        

         (6)
(i) That the Accounts be balanced on 31st December each year.  
(ii) That the profit be divided as follows: Brown 1/2: Smith 1/3 and carried to a reserve account 1/6.

(iii) That in the event of the death of a partner, his executors be entitled to be paid out:
(a) The capital to his credit at the date of death. 

(b) His proportion of Reserve at the date of last balance sheet. 

(c) His proportion of profit to date of death based on the average profits of the last three completed years.  

(d) By way of goodwill his proportion of the total profits for the three preceding years. 


On 31st December 1989, the ledger balances were:







   Rs. 


   Rs. 


Brown’s Capital 






9,000


Smith’s Capital 






6,000


Reserve 







3,000


Creditors 







3,000


Bills Receivable 



2,000


Investments



5,000


Cash



           14,000

	21,000
	
	21,000


                                               Total

The profits for three years were:

1987 Rs. 4,200; 1988 Rs. 3,900; 1989 Rs. 4,500.  Smith died on 1st May, 1990.  Show the accounts as between the firm and Smith’s executors as on May 1st, 1990. 



22. The following is the receipt and payment account of Appollo Hospital, for the year ended 31st March, 1991:









         (8)
RECEIPT AND PAYMENT ACCOUNT
	Receipts 
	Rs.
	Payments 
	Rs.

	To Balance b/d 

To Subscriptions 

To Donations 

To interest on investments at 9% p.a. for the year

To Proceeds from charity show

To Grant in aid


	8,500

48,000

15,000

9,000

12,000

20,000


	By payment for medicines 

By Fees of Doctors 

By Salaries 

By Equipment purchased 

By Charity show expenses 

By Sundry Expenses 

By Balance c/d


	33,000

24,000

27,000

15,000

4,000

1,200

8,300



	
	1,12,500
	
	1,12,500



Other information:



1-4-1990(Rs.)
31-3-1991(Rs.)


(a) Subscriptions due 




500


1,000


(b) Subscriptions received in Advance 


1,000


500


(c) Stock of Medicines 




10,000


15,000

(d) Amount due to medicines suppliers 


8,000


12,000


(e) Value of equipments 




25,000


33,000


(f) Value of Buildings 




70,000


65,000


You are required to prepare: - 

(i) Income & Expenditure Account for the year ended 31st March, 1991 and 

(ii) Balance sheet as on that date.






     
23. X and Y were partners in a firm sharing profits in 5:3 ratio.  They admitted Z as a partner for 1/3rd share in the profits.  Z was to contribute Rs. 20,000 as his capital.  The Balance Sheet of X and Y on 1-4-2007 the date of Z’s admission was as follows:
	Liabilities 
	Rs. 
	Assets
	Rs.

	Creditors

Capital:

X                             50,000

Y                             35,000
General Reserve 
	27,000

85,000

16,000


	Land and Building

Plant and Machinery 

Stock

Debtors                           20,000

Less: Provision for d/d     1,500
Investment

Cash
	25,000

30,000

15,000

18,500

20,000

19,500

	
	1,28,000
	
	1,28,000



Other items agreed upon were:
(i) Goodwill of the firm was valued at Rs. 12,000.

(ii) Land and Building were to be valued at Rs. 35,000 and plant and machinery at Rs. 25,000.

(iii) The provision for doubtful debts was found to be in excess by Rs. 400.

(iv) A liability for Rs. 1,000 included in creditors was not likely to arise. 

(v) The capitals of the partners be adjusted on the basis of Z’s contribution of capital in the firm. 

(vi) Excess or shortfall if any to be transferred to current accounts. 
Prepare Revaluation Account, Partners’ capital Accounts and the Balance Sheet of the new firm. 










         (8) 

Or

A, B and C were in partnership sharing profits and losses in the ratio of 3:2:1.  Their balance sheet as at 31-12-1995 was as follows: -
	Liabilities 
	Rs. 
	Assets
	Rs.

	Capital Accounts:

A                              18,000

B                              16,000

C                              10,000
Trade Creditors

Workmen Compensation Fund
	44,000

33,000

5,000
	Plant and Machinery
Furniture 

Trade Debtors                 35,000

Less: Provision                 2,000
Cash in Hand

Profit and Loss A/c
	30,000
15,000

33,000

1,000

3,000

	
	82,000
	
	82,000


C retired on this date, it was agreed that:
(i) Plant and Machinery is to be revalued at Rs. 40,000; the existing provision for bad debts is to be increased by 50% and liability for workmen compensation was decided at Rs. 2,000.
(ii) Creditors are to be paid Rs. 3,000 more.

(iii) C’s share of goodwill was valued at Rs. 8,000.

(iv) The total amount payable to C was brought in by A and B in the ratio of 5:3.

You are required to prepare (i) Revaluation A/c (ii) Partner’s Capital A/c’s and (iii) Revised Balance Sheet after all adjustments are carried out.                                            

         (8)
____________________________________________________________________

1. What is meant by Endowment Fund?     





(1)
2. Give two examples of ‘Capital Receipts’ in case of not-for-profit organisation.(1)

3. Can a Company issue a share having face value of Rs. 10 at Rs. 8?   
(1)

4. What is minimum subscription?   






(1)

5. For what purposes securities premium can be utilised as per u/s 78? [Give any three uses]    









(3)

6. Rohit Ltd. purchased assets from Rohan & Co. for Rs. 3,50,000.  A sum of Rs. 75,000 was paid by means of a bank draft and for the balance due Rohit Ltd. issued Equity Shares of Rs. 10 each at a premium of 10%.  Journalise the above transactions in the books of the Rohit Ltd.   




(3)

7. Show the following information in the balance sheet of the Cosmos Club as on 31st March, 2007:        








Particulars





Debit (Rs.)

Credit (Rs.)

Tournament Fund




-------


1,50,000

Tournament Fund Investment 


1,50,000

-------

Income from Tournament Fund Investment 
-------


18,000

Tournament Expenses 



12,000

-------

Additional Information: 

Interest accrued on Tournament Fund Investment Rs. 6,000. 

     (3)



8. Calculate the amount of medicines to be debited in the Income and Expenditure Account of a Hospital on the basis of the following information:   

(3)
April 1, 2006
April 1, 2007
        (Rs.)                       (Rs.)


Stock of Medicines 

90,000

1,24,000


Creditors for Medicines 

2,40,000

2,04,000

     Amount paid for medicines during the year was Rs. 6,79,000.

9. Subscriptions received during the year ended March 31, 2007 by Hyderabad Arts Club were as under:

Rs.
2005-06 5,000

2006-07 1,08,000

2007-08 3,000___

1,16,000

     Additional Information:


Total number of members 240


Annual Subscription fee Rs. 500


Subscriptions outstanding on April 1, 2006 Rs. 9,000.

Show the amount of subscription in income and expenditure account for the year ended 31st March, 2007 and in the balance sheet as on that date.       
(4)
10. Pass journal entries for the forfeiture and re-issue in the following cases:

(i) D Ltd. forfeited 1,000 shares of Rs. 10 each fully called up on which the holder has paid only the application money @ Rs. 3 per share.  Out of these, 600 shares were re-issued at Rs. 10.50 per share, fully paid up.  
(ii) Z Ltd. forfeited 300 shares of Rs. 100 each on which first call of Rs. 20 per share was not received, the second and final call of Rs. 30 per share has not yet been called.  Out of these, 200 shares were re-issued as Rs. 70 paid-up for Rs. 55 per share.    






(3+3)

11. From the following receipt and payment account and additional information of Ashoka Club for the year ended 31-3-2007 prepare:

(i) Income and Expenditure Account.

(ii) Prepare Balance Sheet as on 31-3-2007.

	Receipts 
	Amt. (Rs.)
	Payments 
	Amt. (Rs.)

	Balance b/d
	25,000
	Salary
	6,000

	Subscriptions :

2005-06                2,400

2006-07                53,000

2007-08                1,000
	56,400
	Newspapers
	4,100

	
	
	Electricity Bill
	2,000

	
	
	Investments 
	40,000

	
	
	Books 
	21,200

	Entrance Fees
	2,500
	Rent 
	13,600

	Municipal Grants 
	20,000
	Furniture 
	21,000

	Sale of old furniture (Book value Rs. 8,000)
	11,400
	Balance c/d
	7,400

	
	1,15,300
	
	1,15,300



Additional Information:
(i) Subscription outstanding as on 31-3-2006 were Rs. 3,000 and on 31-3-2007 Rs. 6,000.

(ii) On 31-3-2006, salary outstanding was Rs. 900 and on 31-3-2007 salary outstanding was Rs. 1,200.

(iii) The Club owned Furniture Rs. 30,000 and Books Rs. 14,000 on 1-4-2006.









(6)

12. W Ltd. issued 10,000 shares of Rs. 100 each.  During the year only Rs. 80 were called and payable as follows:

On application Rs. 25; on allotment Rs. 20; on first call Rs. 20 and on second call Rs. 15.

Amounts were received as follows:

On 8,000 shares the full amount called

On 1,200 shares Rs. 65 per share.

On 500 shares Rs. 45 per share.

On 300 shares Rs. 25 per share.

The directors forfeited those shares on which less than Rs. 65 per share were received.  Show the necessary journal entries in the book of the company.  (8)  
____________________________________________________________________

1. Ram and Sita are two partners whose drawings are Rs. 15,000 and Rs. 10,000.  Interest on drawings is to be charged @ 6% p.a.  Calculate interest on drawings.     








(1)
2. In the absence of any partnership deed, how are interest on capital and interest on Partners’ loan treated?       






(1)
3. State any two reasons in which the need for reconstitution of partnership firm arises?                  








(1)
4. Average profit Rs. 50,000; Average Capital Employed Rs. 40,000; Normal profit being 10%.  State the goodwill by capitalisation of super profit method.    
(1)                                                                                                  
5. A and B earned an average profit of Rs. 40,000.  Their capital employed in the firm is Rs. 70,000.  It is expected that the average rate of profit is 15% on the capital.  Calculate the amount of goodwill, if goodwill is valued at 2 years’ purchase of super profits.                





(3)
6. The profits and losses for last five years were:     
1st year – Rs. 3,000 (including an abnormal gain of Rs. 1,000)
2nd year – Rs. 7,000 (excluding Rs. 2,000 as insurance premium)

3rd year – Rs. 2,000 (after charging an abnormal loss of Rs. 1,000)
4th year – Rs. 3,000

5th year – Rs. 1,000 (Loss)

Calculate the amount of goodwill on the basis of 3 years’ purchase of the last 5 years average profits.                               




(3)  
7. Raja, Roopa and Mala sharing profits and losses equally have capitals of Rs. 1,20,000; Rs. 90,000 and Rs. 60,000 respectively.  For the year 1994, interest on capital was credited to them @ 6% p.a. instead of 5% p.a.  Give adjusting entry.   

 







(3)
8. Distinguish between fixed capital and fluctuating capital.     

(3)
9. A, B and C are partners sharing profits in the ratio of 5:4:1.  C is given a guarantee that his share of profits in any year would not be less than Rs. 5,000.  Deficiency, if any, would be borne by A and B equally.  The profits for the year 1998 amounted to Rs. 40,000.  Prepare profit and loss appropriation account.  







(4)
10. A, B and C are partners in a firm.  On 1-1-1998 their capitals stood at Rs. 50,000; Rs. 25,000 and Rs. 25,000 respectively.  As per the provision of the partnership deed:

(a) C was entitled for a salary of Rs. 1,000 p.m. 
(b) Partners were entitled to interest on capital at 5% p.a. 
(c) Profits were to be shared in the ratio of capitals.

The net profit for the year 1998 of Rs. 33,000 was divided equally without providing for the above terms.  
Pass an adjustment entry to rectify the above error.       


(4)
11. X and Y are partners with a capital contribution of Rs. 80,000 and Rs. 60,000 respectively.  Their partnership deed discloses the following: 
(i) Profit sharing ratio is 3:2

(ii) Interest on capital is agreed at 5% p.a.

(iii) Y is allowed a salary of Rs. 6,000 p.a. which has not been drawn.  

Profit during the year 2001 prior of calculation of interest on capital but after charging Y’s salary amount to Rs. 24,000.  A provision of 5% of this amount is to be made in respect of commission to the manager.  Prepare profit and loss appropriation account.      






(4)
12. X, Y and Z are partners sharing profits in the ratio of 5:3:2.  On 1-4-2009 they decided to share the profits in the ratio of 2:2:1.  On that date following balances were appearing in the balance sheet:
Profit and Loss (Cr.) Rs. 15,000

General Reserve Rs. 50,000

Deffered Revenue Expenditure Rs. 10,000

Pass single entry without affecting their book value.                      
(4)
13. Ram, Shyam and Hari were in partnership sharing profits in the ratio of 3:2:1.  Their balance sheet as at 31-3-2006 was as follows:
	Liabilities 
	Amt. (Rs.)
	Assets 
	Amt. (Rs.)

	Bills payable 

Creditors 

General Reserve 

Capitals:

Ram                     50,000

Shyam                 30,000

Hari                     25,000

	20,000

20,000

30,000

1,05,000
	Cash

Bills Receivables

Debtors 

Stock

Furniture 

Machinery 

Building 
	40,000

5,000

15,000

50,000

20,000

30,000

15,000

	
	1,75,000
	
	1,75,000


On 1-4-2006, partners decided to share profits equally.  For this purpose it was further agreed that:
(i) goodwill of the firm valued at Rs. 30,000

(ii) Furniture and Machinery is to be revalued at Rs. 25,000 and Rs. 35,000 respectively.  

(iii) Value of stock is to be reduced by Rs. 4,000

Partners decided to show revised values in the books but they also decided neither to show goodwill in the books nor want to distribute the general reserve.  Prepare Revaluation Account, Partners capital Account and revised Balance Sheet.             







(8) 
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